Sequences

Fill in the missing numbers.

oﬂ 4 8
eﬂ 6 12
O

0{} 8 16
eﬂ 9 18

VA L

9{} 25 50

0 50 100

0 100 200

0 1000 2000

24 30 36

27 36 45

49 56 63

125 150 175

3000 4000 6000

12 18 30

00000000

Work out the
difference between
the numbers in each

sequence.

Working with ones

Write the answers.
o 75 o+ 4 subtract 10 and then
udiusl‘ your answer, e.g.

93“3 . ik _ 275 + 9 =275+ 10 - 1

You can add or
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Adding tens Adding hundreds

Write the answers. Write the answers.

When adding

hundreds, the ones and
the tens stay the same,

e.g. 263 + 100 = 363

+ 500

When adding
tens, the ones o i3

732 + 10
o stay the same, e.g.

263 + 10 = 273
e 20 + 214 e 200 : s 824
e 853 + 30 e 763 + 100
o 40 o 300 4 592
e 936 + 50 e 156 + 800
G 60 e 400 + 603
o 367 + 70

+ 528

+ 412

391 + 600

49| + 80 100 more than 259

e 90 + 635 = o 217 + 700 =

248 + 60 = 300 + 333 =
m 40 more than 152 = m 467 + 400 =
@ 515 + 30 = @ 100 more than 625 =
@ 20 more than 316 = @ 100 + 900 =
@ 20 + 989 = y % @ 945 + 100 =

[NColour

@ 995 + 10 = @ 978 + 200 =




Adding thousands Subtracting tens

Write the answers to the calculations. Write the answers
Make sure you When subtracting
o 2+ 1000 - write each digit in the o 68 - 10 = tens, the ones stay
right place. the same, e.g.
e 2000 + 9 = e 472 - 20 = 203-10=193
e 92 + 3000 - e 903 - 30 =
o 4000 + 10 = o 209 - 40 =
e 73 + 5000 - e 579 - 50 -
e 6000 + 219 = e 917 - 60 =
o 852 + 7000 = o 101 — 10 =
G 8000 more than 391 = 0 99 - 70 =
e 942 + 9000 = o 625 - 80 =
1000 + |48 = 34| - 90 B
m 473 + 3000 @ = @ 876 - 30 =
@ 7000 more than 315 = @ 901 - 60 -
@ 9000 + 896 = @ 807 - 40 =
@ 901 + 4000 = @ 112 - 70 =
@ 999 + 6000 = @ 500 - 50 =
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